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QUESTION 1

A developer created two QVWSs. The first QVW loads data from the data source and creates QVD files.
The second QVW loads the QVD files and provides the user interface for the analytics.

The customer does not have Publisher installed.

How should the reloads be configured on the server to ensure the first QYW reload completes before the
second QVW reload begins?

A. Only the first QVW reload can be automated. An alert will need to be sent to prompt an administrator to manually
perform the second QVW reload.

B. Only one QVW reload can occur at a time on the QlikView server. The second QVW reload will always wait until the
first QVW reload completes.

C. The second QVW reload can be scheduled to start upon the successful completion of the first QVW reload.
D. An action can be placed on the OnPostReload trigger within the first QVW to submit the reload of the second QVW.

Correct Answer: C

QUESTION 2

Which technique should a developer use to clearly describe dimensions and measures for end users who need to use
collaborative objects?

A. add field metadata tags to fields in the load script

B. put a How To sheet in the application

C. put descriptive information in each object\\'s help text
D. add a system table to the application

Correct Answer: A

QUESTION 3

A customer needs to measure the Amount of sales by Days sales Outstanding (DSO). Days sales
Outstanding does not exist in the data model.

Which technique should a developer use to meet the customer\\'s need?

A. on the Dimensions tab, press the Add Calculated Dimension button

B. on the Expressions tab, add an expression using the Class function
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C. on the Expressions tab, add an expression using the Aggr function
D. on the Dimensions tab, press the Add Dynamic Dimension button

Correct Answer: A

QUESTION 4

Refer to the exhibit to the right.

SalesOrderlD  SalesAmount Country
1 329 |Chicago US
2 931 [New York usS
4 906 [L.A. US
5 17 [LA USA
6 547 |Los Angeles US
7 526 |Berlin DE
8 474 |Hong Kong CN
7, 791 |HongKong CN
10 404 |London UK
11 198 |London usS
12 606 |Berlin GER
13 141 |Moscow RU
14 223 |NY US
15 383 |N.Y. US

Which two data quality issues exist within the data set displayed in the exhibit? (Choose two.)
A. multiple spellings of the same City

B. the City value London is associated with two different Country values

C. the Country values and salesOrderID values do not relate properly

D. the salesAmount field name does not contain a space

E. inconsistent Country abbreviations F. duplicate key values

Correct Answer: AF
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QUESTION 5

A developer needs to modify the data model of a document that consumes 5GB of RAM when opened in
memory.

Which type of client should the developer use?

A. Internet Explorer Plug-in client on a 64 bit Windows 7 operating system

B. QlikView local client on a 32 bit Windows 7 operating system

C. QlikView local client on a 64 bit Mac operating system

D. QlikView local client on a 64 bit Windows 7 operating system

Correct Answer: D
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